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HISTORY
( Honours )

Paper : HIS-HC-5026

[ History of India (1780-1857) |

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

God U e Wb T Aotpies fiw

(a) Where did the French establish their first
factory in India?

TABIICH SHEE (SEEIT 4 FRYA I'®
¥ Fffee 2

(b) Who gifted Bombay (Mumbai) as dowry to
the British?

e AR ([ER)eE Ao B Qe SopE
fifes 2
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(2)

() Which European country was the first to
trade by sea route in India?

A AT (701 IR SRS A
IR I IRFEF 2

(d) Who wrote the book, India Today?
India Today 7193 T&37 QT ARk 2

e/ Who was the founder of the Sikh
Kingdom?
i I @ Tem IR 2

(1 Who introduced the system of Daroga as
part of police reforms?

TRE NERY w7 B W@ IRE (A
e IfAfRE 2

{g9 Who was the in-charge of collecting
revenue under the Mahalwari

Settlement?
TIERR TR YETe T R Wive G
%E 2

(R} Wha introduced the Ryotwari

Settlement?

@R TSR TR $767 IR 2

A23/299 ( Continued )

(3)

fi) In which year was The Asiatic Society of
Bengal established?

(FMW] IW@S The Asiatic Society of
Bengal %I 391 0227 ?

Who introduced the Doctrine of Lapse?

Tg-fAcemet S @I #7é sfafez 2

(k) Which Act ensured the establishment of
the Supreme Court in India?

FH i3 SHoe SHeT AT T FA0!
fAfoe sffes 2

() Which was the first Indian State to
accept the Subsidiary Alliance?

O figer NS 2121 I SR Avwsw 1w
& wifez 2

(m) Name the institutions through which
indigenous education in pre-British India
was carried out.

Ko fifte sRes @ a1 (W Few ewm
91 AfedPiyE T o
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(4)

(n) Which of the following statements about
the Revolt of 1857 is incorrect?

Sved B R T TR @l U 2
(i) Absence of all India participation
T SASHA @A TSR

(i) Lack of unity between the Hindus
and Muslims

(i) Begum Hazrat Mahal lead the Revolt
in Bhopal

@A THAS TWE @ee RER @Gigs
7z Ffafea

( Choose the correct answer )

( =% Teahr Ak Sfersa )

(o) Write any one economic impact of British
Colonialism in India.

sree fifty eAfafeerme R @ 9o
Tetafes ger o |

(p) What was Damin-i-Koh?
TIfRe-2-377 & ez 2

A23/299 { Continued )

g—y

(5)

(g9 Write any one impact of commer-
cialization of agriculture in India.
TRES IR I AR R @A &5 =R
lEAzl {

() Where did the Revolt of 1857 start?
e TR REE 3T TRE 3% 7

2. Answer any five of the following questions

in brief : 2x5=10
(a) Mention any two differences between the
Orientalists and Utilitarians.

ﬁ”)z"ﬂ IS ’\"-."!w.z;ﬁ.c.zin.z P IEST0) ﬁ & ’fﬂ
e TEI T

(b) Write two causes for the introduction of
the Permanent Settlement in Bengal.

THTTTS AT TR AT W T IR

(c) Why was opium cultivation important for
the British empire in India?
ST =i
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(6)

{d) Choose and write the correct answer :

v Saahl iR o

Which of the following crops was brought
to India by the Portuguese?

T (SR T EMerre sraets wiffee
() Mango / ®4

(i) Chilli / &M

(i) Rice / Y9

(iv) Tomato / &R

(e) Match the following :

oo AR ficem -
Column—A Column—B
T—F wBw—

(i) Poverty and un-British (1) William Jones
Rule in India (Book) T3y e
Poverty and un-British
Rule in India (5%)

fi) The Asiatic Society of (2) Dadabhai Naoroji

Bengal -
fit afenibe &'=l2f s oo A
(i) Fort William (3) Madras (Chennai)
16 T3feriy TS (COHR)
{iv) Fort St. George (4) cCalcutta (Kolkata)
& OF we oIS (I
A23/299 ( Continued )
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(7)

{f) What is shifting cultivation (jhum)? Was
it preferred by the British?

e ¢ (@) R Bt T a=w
fafesica 2

(g) What is deindustrialization?

fRermitead f& 2

(h) Who annexed Awadh in British Empire?
Who was the Nawab of Awadh when it
was annexed?

@ bR semare wonam Sfterza FffeE
Gz AITS AR TR @l 13 2

iy Name two leaders of the Revolt of 1857.

Steq 4 Reurd 1o e T fore o
() Name the two leaders of the Santhal
Uprising.
b1 {eErzd 1o GTer 9 o4 |
3. Write short notes on any four of the
following : S5x4=20
e 1 @1 BROR sk 59 (G fara
(a) Mercantilism
BT TS
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{:8) ( 9)

(b) Indigo Cultivation 4. Answer any four of the following questions :

10x4=40
JoLoo o) 2P R e wifEtm e i

c) Subsidi Alliance
(c) ary (@) With reference to the Carnatic Wars,

e B ; discuss about the  Anglo-Mysore
{ [ relations.
(d) Police Administration in India under the ’ FMbF @ WENS AW WE A TRA
East India Company T A |Cas %94 |

SRS 2B G @R S ffes 2P

{ ;
| (b) What were the factors that 1
) . at led to the
fe) Mahalwari Settlement DE L conflict between Mir Kasim and the
% R English? What were its outcome?
Ty o @R TES kg IRT B

() Rural Indebtedness wfee 2 2R FaEe & =ifke 2

2T T

c) Discuss the orientalist perception of
' India in the late 18th and early 19th

l

|

l

1

|

(g) Macaulay’s Education Policy t
Macaulay3 fr fife ! Centuries.

l

l

|

|

|

F

|

|

|

|

o *fEFR CRIFIE TF > R wRsiice
(h) William Jones ITSGHTTRR SRS =9t 4F] YT SICAT
41 |
e o
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(10 ) (11

(d) Critically discuss about Ryotwari i) Write an essay on the forest policy in
Settlement. India during the early 19th century.
WA T b SEREAEE R 3> PR TSNS TRES IH-Te1 R @
HITACEAT | o foran o

(e) Critically discuss the theory of Drain of

Wealth’ | () What were the causes of the Santhal
) Rebellion?

TR ARl afbr ofb ST Raae

mﬂamj? g - vreerE Rears IRPE & wifee 2

() Was there deindustrialization in India . o %% &
during the period of your study? ‘ u

(TR SEE TS SReS RErmied
CafeEicfe 7

(g) Discuss about the occurrence of famines
in India during the period of your study.

(oA R RS SRS (T {ewm
e s 40 |

(h) Discuss the causes for the failure of the
Revolt of 1857.

Sred T Rz SPREeR IATHE S
=1
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